No. Code Name Skze (mm> Remark

01 D1 steel door 900x2080 curved aluminum threshold
the haight of not more then Bmm
02 D2 stoel door 700x2000 curved aluminum threshokd
note : spherical lock the height af not more than Bmm
03 D3 eteel door 800x2000 curved aluinum threshold
note : spherical lock the height of not more than Bmm
glass double open door 1500x2060 lumi I
o4 D4 glass doubl open door contaln aluminum alloy frame
‘curved aluminum threshold
05 D5 steal double open door 1500x2080 e et of e e o S
08 De steel escaps door 10002060 Core wool board
nots: the push rod lock
07 D7 steel double open door 1200x2080 ‘curved alminum threshold
the height of not more than Bmm
08 D8 steel door 900x2080 curved eluminum threshold
note: spherical lock the haight of nol mora har Bmm
08 w1 Alu. sliding single glass window B00x1200 inoluding soreens and PVC fabria type shutter
note: toughened glass
10 w2 Alu. sliding single glags window 900x500 canisining scrmens
Note: the glass is tempered glass {frosted)
1" ws tempered glass Chung window) 2400x2500 emed
L1
12 w4 Alyminum blinds window 900x600 s for wall Mount roof tussse
Wurickal poe network ncisces Septc
13 81 ventilator 250x250 ‘extemel Instalation of metal shutters cover
intexmal installation of stainiess sleal wira mesh
14 A magnesium oxide board 18
@ 1200
g - @ @ 15 B PVC floor 18
b
m - g 18 c aluminum plate 15
@-— : £ -
@ " 3 17 outside wall panel | 76mm rock wool panel (double side 0.45mm steel sheet ,rock waol density :100kg/m*)
Y
ko
@ E 18 inside wal panel 50mm rock wool panel (double sida 0.45mm zteel sheet ,rock wool density :100kg/m®)
=
a0
o
© & .
8 Cprovide by chent)
b
b
S N
m : 73
q |
¥ ) i
3 00 00§
G) oo o Hoi = 2
g 8 o QO g QO % 3
3
Ml W A e ] =
@ {0 oo o= =
<l S OO E QO am atmel frame+ 2.5mm steel traad plats ;i o u‘
g I 2 L e Y L S
Y B w o ™ ] o v ] o o] o o]
: 00 E 00 - ] i =
© —100o oo i ; = o=
10 {9000 W | s wshl =
am o = o = = + H
N o0 00 = D * i e B
® e 0:10 Aol b dlolp lotrolot :
2 3 4 e
3 4 9@ o .,.gj’z'—’ i N ; » T i :
] ' )
= =5 == == = = e =
< q P am MO +1 L rupt £ =1
3 . | W e w o w W o w g w o @
N ] ErN ™ T T T [3) Reserval, darfier
= T - ]
Q % J 3 e | = u = - || r
I i 2o -
g g 7 % L
N it m_— = m_=y = g, Y ﬁ
H
® — N = M H I H S
o = S [AD
3 - HP
N 1.9 4
[

©
W
é 3

B
ks

()

H
16394 1 6058 6000 2443 2448 2448 2448 2448 2443 | 2500 | 2443 | 2448 | 2448 2448 5448 /2443/ 23184

Note:
1. the integrated bathroom, there is need to raise the position of the toilet 120mm, the bottom of the slope of 8 %. water

2. In the project, the installation gap between each single module is 10mm.

3. In the project, all of the disabled toilet sink with hanging pots.

4. The whole building needs to stand tall 540mm.

5. All interior mirror with the required size is 500 * 700mm.

6. Water heater installation projects require pre-mounting bracket.
NOTE: The water heater to provide customers Haier 60L water heater.

Ground floor layout

Project name Project No. Designer Drawer Assessor Page

THREWH T4 PT160158 | #itIm ZTH #IE & ZTH HE EER &= 01

by the sea hotel | ltem Category Proofreader Date Proportion
y SR BT Bt ProposaL 13t BB, H i1 2016.06.16 | Hu 5]




1 type steel connection groove aluminum

1000

Awning layout

Z2mm  self—=falding beam
S0
Tl
2 <t
PRE:
AN

self—foldig blinds

NG

1000

Z2mm  Self—folding polybeams

Self—=folding blinds
revit

1.2mm 1 type steel connection groove aluminum

A0

rivet

Note:

1. steel galvanized 8—10wm, paint color RAL 2009

\
Self—folding b'mds( S%sewodg blinds
so0?
Il (L] ]
816 816 816
2448
A=A

2. blinds 15 0.omm folding color steel plate

galvanized, paint color RAL 2009

Project name Project No. Designer Drawer Assessor Page
THREWH TH%%5 PT160158 | B i+l ZTH #IE R zTH Fi HER &S 01
by the sea hotel ltem Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




2438

2229 75 1450 75 2229 R R
A 580 461 461 461340 1450 300 461 461 461 530
- 1T T ] [ |
¢ | | ‘ - M 50
5 e 2 | R
R =R NI .
uEe LTI R % S 30
L o < ™~
< AN ~
1 Il i i i il / E
ﬂ C g 0 . -
LA 6058
6058

P

middle toilet layout

320
Ll

2438

Pattern floor flange

toilet floor structure

Up flange Zcm
attern aluminum

MGO board

— wall panel

battom beam

1.5mmpattern aluminum

18mm MGO board——==

middle toilet bottom frame

lavout

drainage ditch

45
1

bottom secod beam

bottom secondary beam —

drainage ditch

Pattern aluminum bending retaining bar
18mm MGO board

Factories can be adjusted
according to actual production

B
Project name Project No. Pes igner Drawer Assessor Page
THREWH T4 PT160158 | ¥ iHIT ZTH #IE R zTH Fi HER &S 01
by the sea hotel ltem Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




2438 10 2438 10 2438 10 1866 1‘0
Terrace part
T T T |‘ ;I' '\; :I N
Reinforcing rib plate
A A —10mm HN199*98*7*4.5mm handrail
L _ - Fo,lroo—q,—oo,o,o
0 . I
B i
8 [ ] > . —10mm
. -5mm
*Q kT
DL 1 _J HN199*08*7*4.5mm
o container top conern pie —10mm
1 WA I ;\J¥
container top conern pier Reinforcing rib plate
overhead beam bottom layout RERGAARY R Overhead beam and container connection node
Outdoor terrace layout il -
35
ﬁﬁ\é
QEF ‘ 140
handrail B WPC cornerd PG decking
160*208*5mm steel terrace and container bottom conection
ki ' ' . KQR* Tk
I WPC board sectiondgl 68*265*10mm HN199%98*7%4 Smm

Qpbottom beam \;bottom secondary beam

A A top beam 43
_ Reinforcinq§7’~b> plate
The end plate
Rl Overhead beam and container connection node
i
W [ bottom beam
- Project name Project No. Designer Drawer Assessor Page
THREK T4 5 PT160158 | ¥ i+If ZTH & R ZTH A HER &5 01
by the sea hotel ltem Category Proofreader Date Proportion
R el 47 KX BXt BEm H 1] 2016.06.08 | Hyf5h:50




=

[_

] Rl
< | - | <
& . el
= ~ =
= o Bl

L ) Lo

A L
L \ \ ]

modular layout

99 129

900 3‘0

C@ :

105 900

B-B

column
8

63

—

IH‘HH‘ CTTTTTTT T
L] ]
5 SESSRERE] HRNRENEIN 1B
Z |\ 7
Z A\ Z .
H
™
2438
Project name Project No. Designer Drawer Assessor Page
THREWH T4 PT1e0158 |#itI zTH #IE R zTH Fi HER &S 01
by the sea hotel | ltem Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




500, 360

22335

117 900 117 | 500 1360

disabled toilet layout

@40 Stainless steel grab bar

70
[

wall panel
armrest mounting side

70*70*4 spacer

800

360 500

NN\
NN

NN
NN

1

—5)—

A-A

Grab bar positioning height

a

Installation should enre that the appearance of smooth look and feel good

Flange materials and surface

treatment the same with gratt)) b

1

Accessible handrails and wall connections

o
@o
-—

b

Flange

i accessible handrails and wall connections

o
o
~

1075

825

' 600:200

450] —

Skimmer

C-C

Grab bar positioning height

500 360

800

Grab bar positioning height

B-B

Note: Accessible grab bars complete the interior floor

surface elevation as the starting line

Project name Project No. Designer Drawer Assessor Page
THREWH T4 PT160158 | B+ ZTH #IE R zTH Fi HER &S 01
by the sea hotel ltem Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




the upper of heater hanging from the ceiling into consideration

from the operating space as small as possible installed

1140
33q 450 1360
¥ — >4 @i ]
To) (9]
g . 0 L Al |
A
(]
neo L]
N
LO
©
~

container top plate

top beam

}

Linked to the length of the actual installation of the

outside wall panel

—Heok spacing should match

water heater height fixed distance from the ceiling

the brand water heater hanging hole

_revit

water heater rigging schematic

Project name Project No. Designer Drawer Assessor Page
THREWH TH%%5 PT160158 | B i+l ZTH #IE R zTH FiZz BEFEX  |BEo
by the sea hotel ltem Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




container top plate

top beam

foptean

50*3m Air conditioning unit hanging installation schematic } — }
Specific location can be adjusted according to the actual situéioQ L

i )

Angle iron =

> =

=

P

~

Air conditioning unit Reference Size ]
800 (L) *600 (H) *260 (T) mm
wall panel _—
O L =
(e 0)
0
450 |
Angle iron, paint color the same with container wall panels
B
Air conditioning unit hanging installation schematic
S YN
Project name Project No. Designer Drawer Assessor Page
THREWH TS PT160158 | BiHIT ZTH #IE R zTH Fi HER &S 01
by the sea hotel Item Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




A
Staircase h

p.

Steel handrails

staircase hadrail corner connection node

q

andrail corner node

2500

16

casing

¢60*3
28 oro 24

y/

One end of the armrest welding, the other end of the sleeve plug
Staircase handrail corner node

Project name Project No. _ sessor Page
THREWH T PT160158 |#ifIli zTH #HIE R zTH Fi EHER &S 01
by the sea hotel ltem Category Proofreader Date Proportion
B4R BoXt EEm H $ 2016.06.08 | Eifh:50




(o container top

ID | . Wall clip (matching sash thickness)

6mm tempered glass

French windows and container column connection with edging rivet

French windows sash and the bottom beam
@300

with self-tapping screw fixation
b, @500

0.5mm color steel edging

Hemming does not exceed the outer edge of the inner edge
of the window frame (not affect the appearance)

dealt with self-tapping screw outcrop

According to the manufacturers windovf W

frame thickness to padding wood sash container bottom

container top

1
French windows and container connection node

A-A
French windows and container connection node

NOTE: The drawings and construction drawings technical tests are not specifically

required by the company's regular practice, matters not please communicate!

Project name Project No. Dosighict Drawet

Assessor Page
TREER T4 PT160158 | it ZTH #IE R zTH FiE EER &S 01
bv the sea hotel | Item Category Proofreader Date Proportion
Y EI 44 Bt Bt mm HI2016.06.08 | b fois0




Mudsill

[140*2mm

connecting plate

Railing construction details

-6*40%120

railing

M10 bolt

30| 60 |30
120

1-1

the bottom of railing need to

seal by sealing plate

1. The connecting plate bolt holes with inner M10 reserved.

2. weld connecting plate to Mudsill

4. Railing on joints must be continuous

@60*2mm
@25*1.5mm [140*40*2mm
100
S [140*2mm
[140*2mm
Note:
1
: | | =110
S Mudsill ©
] 1003
1 1000~1200 |
a

The position of connecting plate and Mudsill bolt hole corresponds to the @18mm

5. Steel railing , galvanization 8~10um, paint 90um,Colours of paint: Ral 7005

Project name Project No. Dosighiot Drawet Assessor Page
TREER T4 = PT160158 |#&iHIT ZTH #IE R zTH FiE EER &S 01
Y ltem Category Proofreader Date Proportion
BIA BoXt EEm H $ 2016.06.08 | Eifh:50




No. Code Name Skze (mm> Remark

01 D1 steel door 800x2080 curved aluminum threshold

the haight of not more then Bmm
02 D2 steel door 700x2000 crved aluminum thrashold
note : spherical lock the height af not more than Bmm
0 D3 steel door 800x2000 curved aluminum threshold
note : spherical lock the height of not more than Bmm
o4 D4 %I:l: dvt:ilur: = open ogeot: 1500x2060 contaln aluminum alloy frame
05 D5 steal double open door 1600x2080 :": ;}L";"":"":':': s
08 De :::" Bz‘f:‘::‘:",d ook 1000x2080 Core wool board
.
07 D7 steel double open door 12002080 curved aluminum threehold
the height of not more than Bmm
08 D8 steel door 900x2080 curved eluminum threshold
note: spherical lock the haight of nol mora har Bmm
08 w1 :‘I:’ sligz% single g{::: window B00x1200 inoluding soreens and PVC fabria type shutter
1_toughened
10 w2 Alu. sliding single glags window 900x500 canisining scrmens
3 1000 6058 1150 Note: the glass is tempered glass {frosted]
: E 1 w3 tempered glass (hung window) 24002500 st
g ! 2 3 1 12 w4 Aluminum blinds window 900x600 user for wall Mount roof tusess
: ; ® @
& E] E 13 s1 ventilator 250x250 ‘extemel Installation of metal shutkers cover
O B intexmal installation of stainiess sleal wira mesh
@ g
o H 6058 14 A magnesium oxide board 18
9 LR
O ey | E 15 B PVC fioor 18
(2)
o 18 c aluminum plate 15
2 Duparicﬁmﬂmmud
g g 17 outside wall panel | 76mm rock wool panel (double side 0.45mm steel sheet ,rock waol density :100kg/m*)
D %LMJE 18 inside wall panal 50mm rock wool panel (double sida 0.45mm steel sheet ,rock wool density :100kg/m™)
(m
g b= r e X C -]
; : (LTI
N H : 4 6058
©) 3
- H
i 3 g
@ =
o § I gtmel frame+ 2.5mm steel trsad plate i
3 |:| B m__m m  uw W W m _w -]
N =
]
(o 3 oo OJ oJ o |
O 3 1 : = = = — = ET
i [ B e TR e e e 1k
3 . = H
oy ans 4
® e b7 = ReleReloBaobaobaal  §p
@ a -
3 IS IS :
§ )
e I L Rt et e e e
T E ! i s a o
H < down w o m w PR bl w ”
© == My N e el el el = 2 3¢
H T T ]
3 A - — o —
R - H am ——
o —
@ —
g I—
3 —
© ol
Bun Sharle:
16304 6058 6000 | 2448 | 2448 | 2448 | 2448 | 2443 2500 2443 | 2448 | 2448 | 2448 | 9a48 | oaa3 23184

Note:

-

. the integrated bathroom, there is need to raise the position of the toilet 120mm, the bottom of the slope of 8 %« water

2. In the project, the installation gap between each single module is 10mm.

w

- In the project, all of the disabled toilet sink with hanging pots.
4. The whole building needs to stand tall 540mm.

5. All interior mirror with the required size is 500 * 700mm.

6. Water heater installation projects require pre-mounting bracket.

First floor layout

Project name Project No. Designer Drawer Assessor Page

THREWH T4 PT160158 | #itIm ZTH #IE & ZTH i EER &= 02

by the sea hotel | ltem Category Proofreader Date Proportion
y SR BT Bt ProPosaL 15T B AR, H i1 2016.06.16 | Hu 5]




PVC floor
cement fibreboard
Interior beam

container bottom

Inner aisle plate

cantainer bottom ~olumn
3
B e 9 ec
Wi | |container bottom \ i Inner aisle plate placing beam
O ) v
N Column \ uin AN248%124*%5*8 divided by webs
1200 M16 bolt
N ™ container top/ T —8 connecting plate (Q235)
Inner aisle and container connection node 3
HNZ248%124*5*%8 divided by webs
Aisle plate and connecting plate welding,
length of beam 1200mm
—8connecting plate Q235) container top corner fittings 124 Inner aisle plate (1200%2458*140mm
factoy regular practice assembly)
o Sl iSE:
©
- |
Inner aisle plate placing beam
HN248*124*5%8 divided by webs container top corner Titlings M16 bolt
—38 connecting plate Q239
11 2-2
Project name Project No. Designer Drawer Assessor Page
TRA/H T#4%i% pT160158 | #itIfi ZTH I B A ZTH B EER E5 01
by the sea hotel | ltem Category Proofreader Date Proportion
SER Xt BFR H3y1 2016.06.08 | Hiffit:50




i

- Q = Q =
. S . p—
@ iw'm_lmyl'ju
i —_—
@ '
y &
)
1 &
el Checkarad Piste
: &

g &
oo o
9o 9
oo o
o(ago
E Qe i@ &= P P
st o s =
o(Do?o( )o g
gde e, L o
oo od ] : : : : =
o(a © ae
oo 9O 4
a8 4 ol |
;i- b L@—m@-ﬁdﬁeﬂﬁhvmu@pﬁmwﬁﬁmm—‘ ‘ i @ Pt Mﬁmﬂmﬁw
3 & = : : ' 2Gl7 150 = &
g . i “L 4 5 5 4 —
!—1 = B =
—z1 he Bdr Bdr Bdi dip ¥
13 L - - - - - ==l 4 4 4
AN

\ B

Notes:

1. Reception. 2 Premium Accommodation (2 with 1VIP Accommodation) Spotlight Layout can be adjusted according to the actual situation
2. All the Electrical system of the monomers within this module do not have related to other Electrical Systems , arranged as dark lines..

3. All the Electrical system of the monomers within this module related to other Electrical Systems,Lighting circuit arranged to bright line.
4. All indoor bedside sockets positioned as Lateral deviation about 300mm of Bedside.

f A & & Installation Height: 1200mm
#1  Installation Height:600mm
X Installation Height: 1000mm
X Installation Height: 600mm
X Installation Height: 1600mm
& Installation Height:1800mm
&  Installation Height: 600mm
First floor electricity layout = Instaliation Helgnt: 1600mm
= Installation Height: 1400mm
X Installation Height: 1800mm
O O@ Installation Height:1000mm
Project name Project No. Designer Drawer Assessor Page
TREWR T4 PT160158 | it)fi ZTH # & & ZTH i EER &= 04
Proofreader Date Proportion
by the sea hotel | o e BT B reorosn, Kot M| FNI20160646 b

Figure

Name

Standard (speciﬁcJtic

Three anti fluon

iescent light

220V,40W

Ceiling lamp

220V,18W

Spotlight

220V,5W

Waterproof ceili2@digitaw

Socket

10A, 2 Plug

A single phasg

switch

B single phase

switch

Dual-control switch

Double-double

control switch

Waterproof sg

cREA, 3 plug

Waterproof Sg

ek, 2 P;ug

Ac socket

16A, 3 Plug

telephone socket

TV socket

Broadband S

ocket

ﬂ@@@ | © E\\%%r@@g;m

switch box




Figure| Name Standard( Specification)

Three anti fluorescent light 220V ,40W

Ceiling Lamp | 220V,18W

Spot Light 220V,5W

Waterproof ceiling light 220V,18W

Socket 10A, 2 Plug

A single phasg switch

B single phase switch

Dual-control switch

Double-double control switch

Water proof Sod@A. 3 Plug

Water Proof Sod€és 2 Plug

Ac Socket 16A, 3Plug

Telephone Socket

TV Socjket

Broadband Socket

ﬂ@@@ | © E\\%%r@@g;m

Switch Box

pr—

r

ﬂj din AT
bhd|h
; )

i

AR

[

[
[ ett——¢

)

R1oT

Installation Height: 1200mm
Installation Height: 600mm
Installation Height: 1000mm
Installation Height: 600mm
Installation Height: 1600mm
Second floor electricity layout Installation Height: 1800mm
Installation Height: 600mm
Installation Height: 1600mm
Installation Height: 1400mm

Installation Height: 1800mm

otes:
1. Reception. 2 Premium Accommodation (2 with 1VIP Accommodation) Spotlight Layout can be adjusted according to the actual situation

B B OB e

2. All the Electrical system of the monomers within this module do not have related to other Electrical Systems , arranged as dark lines..

@ @@ Installation Height: 1000mm
3. All the Electrical system of the monomers within this module related to other Electrical Systems,Lighting circuit arranged to bright line.

3. Allindoor bedside sockets positioned as Lateral deviation about 300mm of Bedside.

Project name Project No. Designer Drawer Assessor Page

THREWH T4 PT160158 | ¥ itIf ZTH #IE & ZTH HE EER &= 05

by the sea hotel | ltem Category Proofreader Date Proportion
y SR BT Bt ProPosaL 15T B AR, H i1 2016.06.16 | Hu 5]




Top elevation flush with the top of the rails

Billboard holder
See large node drawing

steel handrail

LOGO location - ‘Seo large node drawing 7.842
sse2 | 8 00O L N s
— == ! BN | — | — ! — == |l
5 { = |lll\papalipa Ealiea galiea palina palpa Be P I 2 i e L M L g o
21618 | T T T L | | |JLRIO I | 1 TR 2z
. = i i i | 5
: = mnannn s EnEE =l sl wll el =F ;
+0.000 ﬁi  — i i i Eﬁ | ‘ i S :—-\} ° +0.000
@8 - B g
0540 -0.540
1250 6058 6000 2443 ‘ 2448 2448 2448 2448 2443 2500 2443 2448 2448 2448 2448 2443 1200
2 5 5 7@ ® 4 0 12 13 w15 b
7.467
- — — e - ~
(=
e . 8 sse
— - [ — VAR
AN A /2 AN AN /2 AN A AN AL A 77 -
7 7 7 Y 7 7 7 Y Y7 7 7, N
G0 | 110 1511 1 N | N || I T8 2
NNV NNV NN N V2 NNliPn -
SR EE @
7 7 7 7 7 7 4 7 7 7 7 R R‘
L [l I
2443 2443 4000 2443 2448 2448 2448 2448 2448 2448 2443 0540
® © © W L o ® @
B
Note: The elevation in the level , No special instructions are marked to the tank top or bottom mount.
Project name Project No. Designer Drawer Assessor Page
THREWH TiESw'T rreose | BTHT zm HIEA zm Gt e K5 0
by the sea hotel Iltem Category Proofreader Date Proportion
I 4.4 iy elevaton BXT mem Hi 2060608 | EGA




Top elevation flush with the top of the rails

Billboard bracket

steel handrail ee large node drawing
% See large node drawing LOGO location
g Stes! Roof Truss+Corrugated board(Add Colored Steel Sheet Under roof Panl OPP) O “ -
ssez | i nnm L E 8 | sse
| ! == —1 -
o 3 — N \\||H ;H \||H\\ M= S\ A/ S/ A\ } 5
2701 ™ ll W T AT L O R R RN 8 2
= T LA T T = 5
o000 MMM = i = 000
- 5 PO ==
-0.540 Ll 0.540
1200| 2443 2448 2448 2448 2448 2443 2500 2443 2448 2448 2448 2448 2443 6000 6058 1250
19 45 d4 43 42 4 a0 © & @O © & @G @ @ ©
Cc
INBREURAR
7.842
5.582
2
N
T e
: = = 9 B vanm
) /ﬁ @ o
— ‘ g
N
m [ @> | | 1 | | | [ oo
— -
-0.540
L 000 6058 1200 6058 1150 l
@ N M )
D
Project name Project No. Designer - Drawer Assessor Page
TEE#H THRE ereoss | PEHHIH zm HIE G zm HiE  EER B2 o
by the sea hotel ltem Category Proofreader Date Proportion
ST Wi Xt =ex Hill] 20160808 k51




under container plate

prism

Bottom corner posts with bolts

container connecting bolt

M10*25

M16*80  8.8s

Waterproof patchwork Article

lower container plate

Bottom cormner posts with bolts

container connecting bolt

M16*80

8.8s

Under the pier splicing comp

Connection pads &

80*16*120

M10*25

up container plate

Connection pads

80*16*120

up container plate

i

prism

T-type aluminum trim

Natural color

Up the pier splicing comp

1.6mmPVCFloor

18mm Cement fiberboard

Bottom side rails

[

container top

220

A-A
2438
1 1
\ A
L L
" Weather strip with flooring £
&l i
T / T
LA

connection place floor

(The specific size according to the actual site cutting)

0.5mmColored Steel edge

column

Cantilever beam and under corner pier connection

M16*55

under corner pier

walkway plate

up corner pier

column

walkway and cantilever connection

M12*30

Cantilever beam

walkway palte and container connection

cantilever beam and up corner pier connection

Sealant

M12*45 bolt

rainshed

oN

ﬁ\ cantilever beam and up comer pier connection

M12*45 bolt

column

Canopy and container connection node

Project name Project No. Pes igner Drawer Assessor Page
THREWH T4 PT160158 | B i+l ZTH #IE R zTH Fi HER &S 01
by the sea hotel ltem Category Proofreader Date Proportion
BIA BB BXT BEER H 3 2016.06.08 | tuih:50




Exhaust pipe

Sewage pipes

=

450

B

[e—O——] J

IG

15%15%Tmm CGalyalume

_
A

/5m
ORI
Y
—
column
L
Water inlet | pipe
Tube wells

Tube wells layout

Decorative ring holeq————

1.5mm pattern aluminum

18mm MGO board — |

bottom secod beam

20%30*Tmm gav@nlume hemming

sandwich panel

sealant (nstllatio on site )
T catainer top
et Drywall Sc¢rews ~
—5110pipeline
'gﬂ,’775mm rock wool
Tmr GalNalume hemming
struptural | sealant ||
—
L :ﬂ ———container bottpm
———container top
B-B

m rock wool sandwich panel

20*¥30* T mm Galvalume

7/5mm rock wool 4

Sealants (nstallation on site)

confainer top

container bpttom

andwich panel

ring hole
Drywall screws

{Decomt’ve
kHvet

L

9110 pipeline
——0.6mm color steel tube wells Hemmin

ITmm Galvalume hemming
—1.5mm pattern aluminum
SRS structure sealant
‘ E E————18mm MGO board

——— bottom second beam

container |top

Note:
T

A=A

Sewage row down, the ventilation row up
roof ventilation pipe out of the box, but not

outside of the roof truss

tube wells, prescribing hole on the bottom |
tank hole on the top open , hole size to the
actual pipeline zoom ¢10mm

Project name Project No. Designer Drawer Assessor Page
THREWH TiE%merieo1ss |t ZTH #HIE R zTH Fi HER &S 01
by the sea hotel ltem . Category Proofreader Date Proportion
B 44 RE S A i B Xt BER H i 2016.06.08 | Hufaih:50




	1
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	2
	20
	21
	3
	4
	5
	6
	7
	8
	9



